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Fourth Semester Il.E,. Degree Examination, July/August 20zl
Engineering Mathematics - lV

Trme: 3 hrs. Max. Marl<s: 100

Note: Answer nny FIVE /itll Ques,tiorts.

1 a. [Jse Taylor's series utethod to frnd y(l.5) fi'om y'= X),J, y( I ) = l, consicicr Lrpto tl.iirLl ordcr
derivative terrl. (06 r\larlis)

Ir Iiincl rr0,2) hy usirtu rrroclitlcd Eulcr's nlethod givcrr that y'=\-,\,,&1. y(0)=1. Iirlie
h = 0.2 and carry out trvo modifications at eacl-i step. (07 N,Iart<s)

c' I{' 5x-v'*-Yt =2, y(4) = l, y(4,1)=1.0049, y(4.2)=1.0097, y(4.3)=1.0143 then llncl

,v(4 4) by Lrsing it4ilne's rnethod. (07 Nr.rris;

Usc 
-l'avlor's 

series r-netho

order denvative term.

d to find y(1.02) fi'om y'* xy-l, y(l) = 2 consrcler uprg lbLrrrh2 a

b

c.

)1

Lise RLrnge-l(utta nrethocl to llncl y(0 2) liorl 1'= { !. y(0) : I rakipg h .. 0.2.y +\
(07I,Iarlis)

Use Aciam Bashfbrth method to flnc'l y(0.4) Ii'orl y'=x+y', y(0) ... 1. y(0 l)-1.1.
y(0 2) = I .231 . y(0.3) = 1 .402 (07 Nnrr.r<s)

Express 2x3 * x' -3x +2 in terms of Legenclre polynornials. (06 N,Iartrs)

Find y(0.1) by Lrsing RLrnge-Kutta merhocl given tJrat y" = *,(y+ y'), y(0) - 1, y'10) =0 5

taking step length h : 0.1 . (07 \tirrlts)

C. lf'a ancl p arc thc roots of J,(cr)=0 tlicn shorv that
i

fxj,(ux)J, (Bx)clx = 0 il- a* f).
0

(07 N,Iarks)

a. Pt'ovc thal J , (x )= .,p.or^ . (()(, Nlrrrksl
: vltx

b. Find y(0.4) by using Milrte's rnethod given y" +y' =2e*, y(0): 2, y'(()) = 0, y(0.1):2.01,
y'(0.1) =0.2, y(0.2) =2.04, y'(0.2) =0.4, y(0.3) =2.09, y'(0.3) = 0.6. (07 N,rart<s)

c. State ancl prove Rodrigue's formula. (07 Nlarlis)

zl. D'crive Cauchy-Rielrann cquation in Cartesian form. (06 N,tarks)

b. liincitheanaiyticfuncrion l'izy:u+iv intennsolzgiventtrar U=;:,r,l,llt'21 
^c ) -c ") -2cos2x

(07 NIarl<s)

sin ttz2 + cos nz'

J a.

b.

4

5

c

a6 II' f (z) is analltic firnction then prove that. 91ry]1 = lt''1r11' (06 N'Iarlis)ile)
6x

b. Discuss the translbrnrartion W: e'.
c. Find thc bilincar transfbrmation that maps the points z = *l.t.l

W : l, i, - L Also frrrcl thc invariant points.
1 o1'2

+
r1
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l"incl thc vaiue ol K such that the lollolving distrrbution represents a l'inite probabilitl,
distribLrtion. Hencc flnd its nrcan and standard deviation, Also find

(i) P(x < l) (ii) P(x > l) (iii) P(-1<x<2)
X =3

.)_L I 0 I 2 3

P(x) K 2K 3K 4K 3K 2K K
(06 NIarks)'l'he marl<s of 1000 students in an exarnination follows a normal clistribution with mean 70

arrci standard cleviation 5. Find the number of studer-its where nrarks will be
(i) l.css than 65 (ii) More than 75 (iii) Berwecu 65 alicJ 75 (A(l):0.3413)

c. 'l'hc,
o rnt babi distributron fbr trvo random variables X anc'l Y as follows:

(07 Marks)

ti

I)ind (i) E(X)E(Y) tiir E(XY)
(iv) Correlation o1'X and Y(iii) Covariance of (XY)

a. I)e ri'c nrean rind variance of the exponentiar cristribLrtion.
b. 'T'hc joilrt probability distribution lbr two ranclom variables X ancl y as fbllorvs

Irrnd (i) E(x) and E(Y)
(ii) E(xY)
(iii) Covariance (X, Y)
(iv) Correlation of X and y.

In a certain firctory turnrng out razor b
tlrc clcfcctive. The blades are sLrpplied

(07 NIarl<s)

(06 \Iarl<s)
(07IIrrl<s)

sma ll chance of'0.002 ibr any blac'le to
l0 Using Poisson clistribr,rtion frnd the

(06 Marks)

C. lades there rs a
in packets of

9a.

l0 it. Deflrc rlrc rerms : (i) Nr-rlI hypothcsis (ii) Typc * I and Type Il crror
(iii) Tests of s ignifioance .

b. In experintcltts ol.) breed lbllou,in uencies o1'seeds u,ere obtainecl

"l-hcory Prcclicrs that the fieqLrencies shou Id be llt

apPt'oxirllatc nulllber o1'packets containing (i) No clclectir,. blu(''l. (ii) One def.ectine blade(iri) Tr,r,o clcfbilive blades in a corrsignmer]r ol l0000 packets. (07 N,rarr<s)

A coin rvils tossed 400 tirnes and the heacl turned up 216 times, Test the hypothesis tlrat the
coin is urrbiascd at SYo lcvet of significance. (06 Nlarks)
A ccrtairl stinrulus adllltttistcrcd to cach of 12 patients resultecl in thc follorving increases o1,'
bloocl pressrll'e 5, 2, 8, -1,3, 0, -2, 1,5,0,4,6. Can it be concludecl tliat the stimulus rvrll in
gerteral be accorr"rpanied by an increase in blood pressure. (r(11)oo t15 =2.2) (07 Nlarks)
Finci thc unique fixeci probability for the regular itochastic nratrix :

Io I 0lti
l0 , tl. (07\r,rr.ks.1

ltl: tl) () 
I

b

C

corresp.riclcnce between theory and experirrert (\r;n,
ns 9:3:3:1. Examine tite

(07 N'larks)

proportio

= 7.815J.
c. A stucjcnrs study habits are as lollows, If he studies one night, he is 30% slrre to str-rdy the

ncxt rriglrt, on the other hand, if hc cloes not study orrc night he is 60% sure not to study the
next niglrt as rvcll. Find the transition matrix for the chain of his study. ln the iong run horv

Y
X

1*L -l 4 6

I 0.1 0.2 0 0.3
2 0.2 0.1 0.r 0

-4 ) 7

I 1/
/8

1//4 /
/B

5 t/
/4 1/

/8
t/
/8

Round ancl

Ycllorv
Wnnkled and

Ye Uou,
l{ouncl and

Gre en

\,\/rinkled
anci Grecn

Total

3r5 101 108 )t 556

olien cloes lte stLrcly'/
*-*r<2of2,k*>k

(07 N{arks)

'1"

Y
X
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4 a. Solve
d2x _ J

dx

adt2
2x = 0 given+ x:oancl 9=t whent:o

dt
(06 ){arks)

(07 llarlis)
(07 IIarks)

b. Solve v" * 4y' + 4y = *' + cos2x

c. Solve by the rnetirod of variation of paran'ieters y'-f- Y = cosec x

l of 2
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(06 )larks)

(07 Marks)

(07 tr'Iarks)

Max. Marks: 100

Note: Answer uny FIVE fnll questktns.

I

b,v Lrsrng clementary rorv operations.

b. Solve tire follon,ing systcrn of equations by Gauss elitr-rir,ation tnethoc1:

x+y*t=9'. x 2y+Jz:B: 2**Y-2.=3

c. Irind the inverse of the rnarrix o : [: 
* 2l 

,.ing Cayley-Hamilton thcorem.
12 - r"l

are 0. I , I ancl fincl eigcn vcctor'
[r -6 *41

ln a ) Il"l
lo -6 -3_l

corrcsponding to the eigen value '0'. (06 llarl<s)

b. Test the follorving system for consistency and solve the system if thc systcrtt is cotlsistcrtL

x+2y +32=1, 2x+3y +82=2, x+y+ z=3. (07l\{arks)

c. Using Cayley-l-larnilton thcorem. find the iuverse of the uratrix. A =

tr

I'
i0

2

0

-)

l.\
(t)7 ]'larks)

0

(0(r \Iurks)

(07 NIarl<s)

(07 N,Ia rlis)

rr tl:v -dv1 u. 5,r1r,t 
9J -+--+ L:i -lV=0.- dx' rl,x- dr

b. Solve (Dr - 13D + 12)y: .'* + 5.*

c. Solve by using thc rttetltod of undetermined coctllcients:
dtv
;X]*Y=-cosx.
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7

tl

9

0I
b. A bor cotttains tl-rrcc rvhitc balls and tr,vo rcd balls. If two balls are drarvn in succcssion, fincl

the probability that the first removed ball is rvhite and the seconcl is red. (07 N{arks)
c. I1'a pair olclicc is throw.r what is the probability that

(i) the surn olnumbers is divisible by 4
iii) tltc nttmbcr on tlrc first rs grcatcr than that on the scconcl. (07 N{arks)

*<*>krr*

2 ot'2

5 a, liind L.lsin t. sin 2t. sin 3t].

b. Irind (i) L{e r'cos4t} (ii)

u^. I:ind I- i 1(t)| rvhere f (t; =

pr:riocl 4.

0<t<2
_ , givcn (t) is thc pcriodic fitnction with the1<t<4'-

(07 N{arhs)

(06 Marks)
(07 Marks)

interms of unit step lurrction and hence ljnd I-i(r))

(07 \'Iarks)

c. l:rxpress l(t) --

incl L{4+ 4'+4 sinrt}
ind L lt2 ci' sin t'f

lTMATDIP4I
(06 Marks)

(07 Marks)

(061\'Iarks)

(07 N'larks)

(07 }{arks)

(06 IIarks)

f nr hrl,le -e tL\ 

- 

aIr )

J 
r,.

|0,

0<t<n
I / )L

sin t,

ccls t,

I

(s+1)(s+2)(s+3)

b. Irincl the invcrse Laplace transfbrm of to*[t + 3 I-(s+b/
c. Soh,e y" + 4y'+ 3y = 0 given y(0) : 0. y'(0): I using Laplace rransftinn.

I s+l ]

1,,;;;tl
i-,. Irnd iuvcrsc Laplzice translorrn of cot l(s - a). (07 N{arks)
c' Soh'c ,y"+2y' *y=6ter under the copditions y(0) :0. y'(0): 0 by,si.g Laplacc

transfonnation. (07 illarks)

I)e-linc conclrtional probability. Given for thc c\/ents A and B, p(A)
aJ 1

=5
, I'(B) : and

4
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3

4

5

6

a. Defile a threarl. List the ciifterences betwccn multiprocess alld mllltilhreaclcci collccpts.
(06 NIarks)

b. lllustrate with an exarnnlc, the Ltse of isAlive( ) anci join( ) methocl. (08 \Iarks)

c. Discuss dclegation event model lvith example. (06 \'Iarks)

I of2

Fourth Semester B.E. Degree Examination, July/August 2021

Object Oriented Concepts

VIax. Marks: 100-l-irnc: 3 lrls.

Note: Answer nny FtVE frtll qtrcstions.

I a. I3ring out the cliff-ercnces between procedurc orientcd programming atrcl object orienlctl

prograninring. (05 Nlarks)

b. Dcftpe {tlction polymorphisrn. Write a prcgratn in C++ ttsirtg lirrtctiott oicrloacllng arca( )

to calculatc area of circle (arca = nr'). ot"o of trianglc (l12 * basc * hcighr) ancl arca ol-

rcctanglc (area : basc x lrcightl (0tt Nlarks)

c. What are static mcmbers of a class? Write and explairt progranl to citt-ttr1 thc nLttnbcr oI
objects creatcd. (07 \larks)

a. l-lorv do you space helps in preventing pollution of global namespacc. (06 NIarks)

b. Write tr C+* program that has a class nafites 'stuclent' with clata membcrs namc. USN and

average an<1 two rnember tiurction read( ) to read stucicnts datti ancl r.vrite( ) to display recorcl

on scrcep. Write main( ) ftrnction to read ancl clispiay three students datei. (07 IIarks)

c. What is relbrence valable? Write a C++ program to swap trvo integer nuntbcrs and displal,

valucs belbre and alier swapping. (07 llarks)

a. List arrd explain .lava buzzword. (0tt llarks)

b. Explain (i) >>> (ii) tbr each (iii) Short circr-rit opcrator. (06I'Iarks)

c. Write a .lava prograrl ti: find biggcst anci smallest elcment itr an array ol'tl' elctnellts.
(06 llarks)

77C542

(08 Marks)
(06 Marks)
(06 Marks)

(08 Marks)
(08 Marks)
(04 Marks)

a. Iixplain the concept of inhcritancc antl its classificatiolt.

b. What is an cxceptionl'}Explain the usage of tirrow keyr.vord rvith an exatl-tple.

c. Discuss use of interface. Give its syrtax with exarnple in Java.

a. Can constructor be overloaded in .lava'? Justily your answer.

b. With exarnple progrant, cxplain tr,vo use s of supcr in Jav:r itiheritatlcc.

c. Write a note on Garbage Collection.



8 a. \Vritc a .lava program to iurplcment producer Lrsing thread

b. \Vhat is sy,nchronization? Explain with an examp yrchronization is irnpl

17cs42

(0ti \larks)
emented in

(06 llarks)Java.
c. Write a nr)le on

9

2 ot2

a. List ancl explain two types of applet? Explain the skelcton of ar-r applet. (06 N{arks)

b. Dcscribe the steps to create .lTable. Write a program to crcate a table wlth thc coltimn

heacling Nar-r-rc, USN, Marks, Cirade ancl insert 5 rccords into the tablc and display on scl'ec11.

c. \\'r'ilc u,()rc o, co*poncrtts arttl c,ntaincrs. llllllf:i

l0 il. l)cmonstrate hou, to pass parameters Ibr fbnt name and font size in applet. (06 Nlarks)

b. l-ist ancl cxplain diffbrent forms of repaint method. (07 Nlarks)

c, (lrcate a si,r'ing applet that has two buttons natned "Outline class" and "Ol'tlinc class". Wheu

either ot'the button is pressed it slrould print "Online class is scheduled" or "Olfline class is

schcdttlctl"' (07 i\larks)

*rt***
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USN

linre: 3 hrs.

Note : lzsruer on)) FIVE.full questiotls.

a. Deflne asymptotic notations with example,
tl. Solvc the followirrg l'ecul'rence lclation. Using backrvard sr.rbstitLrtiop :

x{rr)-Jx(n-l) ft,r'n> l.x(l) =4
c. I-ist arrcl cxplairr rhc basic as) utptotic cl'licicncl classes.

17CS.l3

Max. Marl<s: 100

(09 Nlarlis)

(03 Nlarlis)

(0ti Nlarlis)

Fourth Semester B.E. Degree Examination, July/Aug ust 20zl
Design and Analysis of Algorithms

KSIT

1

)o

b.

L.

KSfr A.

b.

I)clltrc thc lolltru ing terms :

( i) Craph
tiit lrcc
(iii) Set and Dictiorraries. (0.r.\rarris)

Write an algoritl,rn to find ntr'I-ibonacci number recursivcly. Set Lrp a recLrrrencc relatio, {irr-
Iribonacci number and solve it. (0ti \{artis)
Consider the lollowing algorithrr :

Algorithrn Mystery (n)
/lrrput : A ntrnrrcgative integer is

s*0
lori-ltonrlo

s.-s-. i*i
rctltnl S

(i) What cloes this aigorithrn cornpute'i
(ii) What is its basic operation?
(iii) How many time is the basic operatior"r cxecuted?
(iv) what is thc efficiency class of this algorithm? (08l\,rarris)

Write an algoritltrrr to finding the maximr-rm ancl minimum ol'the given set olelemepts.
i a(i)- a( ir I ).. . ..a( t i (0ri \rar.Lsr

Apply Qr"ricksorl algorithm to the follolving set of input valucs ancl clrarl, a tree olrecursir,c
calls to quicl<sort with inpr,rt values / arrd r ol'sr.rbarray bouncls ancl split position p ol'a
partition obtained.
5. 3. I .9.8.2. 4.7 (t2 \tlr.rirl

4 l-.xplain the Strassen's matrix multiplication algorithm to computc thc pr.oclLrct ol' 2rla.

matrices. (0ti )I a rlis )
t . Describe the advantages and disadvantages of divicle and coltclLler tcchrriclr"ic. (06 NIar.lis)c. Consider the lollowing graph, apply the DFS-based algorithm to solvc thc lopoloeical

sorting problem fbr the given digraphs : (Relbr Fig. Q4 c)) (06 N'Iarlis)
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6 tt. ( i) (_onstruct a I I

IT

b

17CS43

paruJilnr. (06 \lar.ks)
a rrlnlrrLrm spanning

(0tl \larks)
the given graph ancl

(06 )larks)

C

:J

5

Fig. Qs (c)

6

4

fbr the follow

i

8

t?

6
Irig. QB (a)

2 of 3

Character A B ',iC'''"' D
f'}robability 0.4 0.1 u.l 0. 15 0.15

I(ey A B C D
I)robabilitl, 0.1 0.2 0.4 0.3

\

.l

'l

data:

(ii) I:ncodc the rext AI]ACABAD Lrsing the code of Q(i)(iii) i)ccodc the text r,vhosc encoding is 100010111 001010 in the codc of' Q(i)b C'onstruct a hcap fbr the list 2. 9. 7.6^ 5^ 8 by bortom up algorithrn ancl how cf.flc
(10 Marks)
ient is this

programming
(10 r\Iarl<s)

aleoritltrn irr the rvrtrst case ?
(10 Marks)

7 a. Applv the cly'nantic progranrming algorithnt 1or constructing arr optimal birrar,v search_treelirl thc lblkrw, data set :

b. So lve thc all pairs shoftest patlt
(10 N{arks)

problern for the diagram u,ith the fbllorving weight'rratrix:

(10 \'Iarlts)
ooo)04cl)

02.nl8
6032u)

tN'r)203
3"c,.t)co0

a' cornpurc the opti,ar tour oI the given dirccted gr.aprr using dl,narnic
tcchniLlr.rcs trl I SI). (Refcr. I:ig. eB 1a)1.
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(06 Marks)

to the instance
(10 Marks)

(10 Marks)

b.

10
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3 of3

,&.

. 1 ^'e/
{iiefiiE

Item Weight Value

i 2 $12
2 i $r0
J J $20
4 2 $r5

boffom-up

problems.

(Fig. Qe (b))

ofthe

b.

n= 4 (Pr, Pu, P-1, Po) =
Wr, W?,ryi; Wc

''i rrla'i-{'t.

n4ffi

%,

Fig. Qe (b)
algorithm.

by

of the
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02t

Marks. 100

(08 Marks)
(08 Marks)
(04 Marks)

(08 Marks)
(08 Marks)
(04 NIarks)

(03 Marks)
ctions and
(09 NIarks)

-5 bylcs o1'

(08 Marks)

(03 N{arl<s)

O
O

O

c.

tr

O

to
i

7) ',l
a[) *

:25t^-
E
!)

.= r

=c!-t
F. :it

OC
-'D

a>
!,. c,

-i

=,.>n
:)a

Vs

i.- c-
()-

C

- l::

iQ

3->(k
:Oc
'i-
O-:

=>7t
t)

'll

;
z

o
c-

1

2

3

5

b

a.

b.
C.

b.

a.

b.

Write an A[-P to Fibonacci series of first seven numbers

C.

4a

(i) IDIV (ii) STD (iii) OUT (iv) LODSB (06 N,rarks)
b. Write an ALP to check whether tu,o strings al'e equai or not aird display thc corresponc'llng

message such as "STRINGS ARE EQLJAL".. ... . etc. (()7 [,Iarks)
c. Design a mcrxoly intcrface which tises 8 numbers of 2764 EPITOM chip for 64x8 moron,

fbr the addrcss range bctrveen F0000H to FFFFFH (07 x{arks)

I of2

6

GBG$$G.ffi.EME

(09 i\'1a rks)

(08 Marks)

a. Expliiin tlie {bllou,ing instruction with syntax :

(i) IMUL (ii) cLD (iii) srosB (iv) SCASL3 (06 x,rarks)
b. Write an ALP to check rvhether a given string is a palindromc or not'/ (07 N{arr<s)
c. Find the control lvord if PA: out, PB: in, PCo - PCr: in, PCa - PC]T - or-rt iincl u,rite thc

program to get the data fiorn port B and send it to porl A. Use porr erdclress ol'300i1-30lll
fbr 8255 chip. (07 .\,{arlis)



7 tt, \\/ith neat cliagranr cxplain ARM core data llorv
b. \\rrth ncat ciiiigraur, sumrtrarizc the complete set
c. \Vith rrcat diagrarn outlinc thc various

o olARIr4.
o1'cnrbeddecl systcm
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(07 Marks)
(07 Marks)
(06 Marks)

(07 Marks)
(07 Marks)
(06 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

tt

9

I()

tor I

Conrparc the cliflclence betrr,,een RISC and CISC design philosophy.
With neat cliagram explain the various fie.lds of CPSR.
with neat cli:rgram surnrnarize the pipcline mechanism in RISC processor
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I a. What are the
b. Discuss spiral
c. With a d

4a.

b.

fua

to

Max. Marks: 100

(05 Marks)
(08 Marks)
(07 Marks)

difficult task? Explain the
(10 Marks)
(05 Marks)

(05 Marks)

il-.#&"

its block
ain the Rational

2 a. Why of
elicitation and an

b. Explain the 1EEE standard of Software
c. Explain the different carried out

frorn stake

checks"to

':; , ,,;1;t1111t11t'ttt""'':"t 

"

interaction modeling.

,,6;m
Ohiea,fori

:.
e a design of ented System? Discuss how the

(10 Marks)

4 elements of design
Source LicenSing,

pattem.
c. p,,6q1ain

a. 'Explain

b. Explain
Explain

of granularity in testing.
process.

process

6 a. List ancl expiain Lehman's law.
b. Explain the software reengineering process with suitable diagram.

c. Explain the legacy system assessment with example.
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7 a. Draw the activity bar chart and staff allocation 'ttfor the following set of tasks shown

below

ru,
rS"- *1V

,4h,.Y
:gQl5 3i*.!1&

^m i3d *&. {S
19r" -

,e- 'YtsJ
i {&-.M
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b. Explain

{ *;t

1!

(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
(06 Marks)
(04 NIarks)

id ,xl

ffis

4r

are used to

pricing.

cope

of project delivery.

c. List the factors

8 a. Explain reviews and

b. List and mention
c. Explain the proce

9a.
b
c.

10 a.

c. Explain scrump

MO - ll estimation

introduce agile into large
-driven and t

standards.

(10 NIarks)
(05 NIarks)

(05 Marks)

systems engineering alld the
(10 Marks)

software development. 
ffi lfi:[:]
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ffiN TIK
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1&! @
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DependenciesTask Duration (days)

Tr W*
Tz t5-,1

e15 Tr(Mr)T3

Td, .jq! }10

Ts :4.*.-, *rt 10 Tz, T+(Mr)
Tr, Tz(M+)T6

Tt #nneLv Tr(Mr)

"@(tvtz)Tt 25

Tq 15 !4 i1,,,,111.,,,,,,Tj Trr(Ms)

Tz, Te(Mo)::,:." 
T 10 t5
Trr l0 Tq(Mr)

10{ Y.} Tro, Tr(Mr)T:z

,i :'
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involved in the
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7a,
b
c.

b

.la

2a.
b

3 a, Explain

Explain the thrce

Modulation in brief the components of PCM encoder
(10 N'Iarks)

(10 Marks)

with supporting'
(10 NIarks)

(10 Marl<s)

(10 Marks)
(06 Marks)
(04 Marks)

AD l,C protocol.
(06 Marl<s)
(06 N{arl<s)

(08 Marks)

(05 N'Iarks)

is 0.75.
(03 I\Iarks)

. (12 N{arks)

(12 Marl<s)
(08 Marl<s)

(08 NIarks)
(12 Marks)

5a,
b.

b

6a.

7

"' 
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c.{,19&;"'
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a, Explain three controlled access methods.
b. What is channelization? Explain frequency division multiple access

Distinguish between fixed WiN4AX and mobile WiMAX.
Explain tire three categories of satellites.

Explain iPv6 datagram.

it.

b

fl.

b.

conne

slotted ALOF{A.
network if the offered traffic 'G'

p-persistent CSMA with florv diagrams

(10 I\Iarks)
(10 Marks)

10

strategies which are devised {br transition from IPv4 tc IPv6

b. Calculate the S fora

c. Explain I


